
 No. PARTS Qty
  A             Upper Ring
  B      Bottom of Fire Bowl  

D    Outer Ring     

 F Leg

  G Poker

  C             Side Panel          

            1

  E Outer Ring Connection            

 4      

4
4
1   

BBAA

 No.          Hardware           Qty

  BB    M6 Nut  

 

  AA       M6x10mm Bolt       
       8

Part List

G

C

D

E

F

B

  H  
  I  

Cooking Grill
Cooking Grill Support

1
4

A

H

I

  44



Assembly Instructions

Assembl  the fire pit on a non-abrasive surface. Some parts may contain sharp 
edges- especially as noted in the manual. Please w protective gloves.

Step 2:
Attach Leg (F) to Outer Ring Connection (

Step 1: 
Attach Outer Ring Connection ( ) to Outer Ring ( ) with sixteen (16) M6 x 10mm bolts 
(AA).

)  eight (8) M6 x 1 mm bolts(AA).  

AA     x16

1

AA

AA

AA     x8

Note: Please DO NOT tighten the hardware at this step.

AA
AA

F



AA     x7

Note: Please DO NOT tighten the  hardware at this step.

2

  
 

Assembly Instructions

Place Upper Ring (A) upside down on a flat, protected surface.       

Attach side panel(C) to the Upper Ring(A) with one M6 x 10mm bolt(AA).
AA

C

A

Step 4:
Insert pins in side panel (C) into slots of another side panel (C), repeat until all side   
panels connected.  Connect assembled side panels to Upper Ring (A) using seven (7) 
M6  x 10mm bolts (AA).

C



Assembly Instructions

Step 5:  
Put assembled side panels onto assembled base, put Bottom of Fire Bowl (B) into 
assembled side panels.

 Step 6:
Connect Bottom of Fire Bowl (B) with side panel using four (4) M6 x10mm bolts(AA) 
and four (4) M6 nuts (BB). Connect assembled firebowl to Outer  Ring Connection (E) 
using four (4) M6 x 10mm bolts (AA)and four (4) M6 nuts (BB).

! WARNING: HOT SURFACE! DO NOT
TOUCH ANY HOT SURFACE. WEAR HEAT
RESISTANT PROTECTIVE GLOVES.

3

B

AA     x8 

BB      x8

AA

E

Note: Please tighten all hardwares at this step. 

AA

B

 C

BB

BB



Assembly Instructions

Step 7:  
Attach Cooking Grill Support (I) to Upper Ring (A) by using four (4) M6 x 10mm bolts (AA).

 

4

AA     x4

Note: Please tighten all hardwares at this step. 

Step 8:
Put Cooking Grill (H) onto Cooking Grill Support (I).

A

C

AA

I



Assembly Instructions

Step 9: Put the Poker (G) near the fire pit.

MAINTENANCE

CARE AND CLEANING

Do not attempt to clean the fire pit until the fire is completely out and cooled
completely.

Use a soft cloth to wipe the fire pit and poker.
Do not attempt to clean while hot.

STORAGE

Do not attempt to move the fire pit while it is hot or in use.
Store assembled in a cool, dry location away from children and pets.
Keep the fire pit covered when cooled and not in use.

Welcome to share any pictures or videos about this fire pit!

5


